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101|R#A7 L 209 30 179| Kg |@S 1,620 108| £ 3,564 540
102|357 L 1,930 1,930 Kg BIE 1,566 800
111|&EEF £ 1,828 80| 1,748| Kg |EE 972 162|EER S 1,782 324
113|RAV S 77 6 71| Kg |EE 2,160 231| £ 3,024 756
114|B5EFE 204 204|  Kg e 2,970 540
15[ 1= 11 6 5| Kg |EE 2,700 1,836 )& 3,240
117[1E 250 160 90| Kg |@ES 1,080 432| 3,780 540
121|rblE &€ 48 35 13| Kg |EE 1,404 163|1& 5 1,728 1,512
134[#= = 442 260 182| Kg |8 - =% 2,200 1,300|185 2,700 1,404
137|&5E.3. < 601 474 127| Kg |BE 3,780 2,700| &£ 4,644 3,456
138|Hm % 2 4 4l Kg FfE 3,780
140(5 I 38 38| Kg b 50,400 15,120
147|EZ O 79 79| Keg |EE 7,778 KI5 8,100 4,000
158|&TENAIEH 246 246 Kg IR 2,322 1,998
201|{Lb L 671 671| Kg JbimiE - T 1,404 300
203|/Né L 108 108| Kg I35 459 54
205|5u8 L 60 60| Kg KI5 702
206| 1 1,200 1,200 Kg @ 1,620 216
207| = AE 228 228| Kg X 1,080 702
208|m>% 369 369| Kg RI5 3,024 540
210|1F ALy 36 36| Kg RI5 10,260 1,917
212|&5E.3Y 873 873| Kg A - &) 2,106 1,100
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22202 231 2311 Kg SER 504 324
251[<AFECA 458 431 27| Kg |8 4,644 3,024|F %% 3,132 2,700
254|ED12ELCA 750 166 584| Kg |FE 1,728 983|mA 1,998 1,166
3031 A 7Ly 51 51| Kg i 720 432
305[£Aah 0% Kg FE 4,320 2,809
306|L e k) 5 Kg |RIE 648 =B 540

315|7: B9 6 21 21 Kg = 2,592

319|h o 809 208 601 Kg [|AJ 1,188 351|E&fE 2,376 486
332(xF WA =F 420 420 Kg bF 2,916 1,728
3bl{HHV 23 10 13| Kg |=3 5,400 3,240( =4 15,120 3,078
35411Fx£ <Y 85 85 Kg FIE 2,484 1,134
355(mp Y 140 25 1151 Kg [doimE 1,080 time - P E 1,296 600
356(L L& 40 10 30| Kg |ZA0 432 SER 1,080 756
357|7RE 68 28 401 Kg |E&EE 1,148 1,080(3& = 4,104 1,080
358|KE 12 10 2 Kg [ZA0 1,944 1,728|Z 51 3,456

362| & 569 569 Kg INZ 4,320 648
401|H W 47 471 Kg Iz B2 2,484 1,620
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A—uhh 10 10| Kg 2P 810
AN 110 110] Kg i 1,450 1,150
AERAT AT 649 649 Kg 2P 4,320 473
ARTEZL 75 75 Kg H[E 1,740 1,620
JE WA AE 50 50[ Kg Bl = 1,050 950
iy} 100 100 Kg i 972

Jarys: e 231 231 Kg 2P 3,857 850
B 51 511 Kg JbF 5,300 900
BRI 200 200 Kg Bl = 1,080
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70110 BA 2,644 1,656 888 Kg |E&E 4,522 3,800| &= 4,191 1,512
704\ LETF 7 71 Kg FiE 2,808
705(7/=2< Y 28 281 Kg Ko 4,752

709|Lb LALF Kg BRS 1,004

710(2 20T Kg Ko 1,260

713IL L» & HF 15 15 Kg JbiF 1,080
BlBEFALANIN 313 313 Kg |B1R 972 859

54T AE T Kg blo ] 1,234

755|FH®» C 9 Keg EE 728
T56(FNET 5 Kg R 1,588

76l|1b Y BAEE 6 Kg FJE 2,469

763\ Z AMC 31 31 Kg |&E 3,038 2,314

801 [3BAT = 1S 417 4171 Kg FE-mA 2,376 702
802\ 1 274 274 Kg 2yl 1,912 1,404
805 = 1E 962 962| Kg bF 1,080 540
807 [18HDF 605 605| Kg JbiF 10,152 2,160
810|FAKF 493 4931 Kg bF 2,430 2,160
8lh|—W T AX 75 751 Kg tmE 1,008
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